
'kkldh; ekudq¡ojckbZ dyk ,oa okf.kT; Lo'kklh efgyk egkfo|ky;] tcyiqj ¼e-iz-½'kkldh; ekudq¡ojckbZ dyk ,oa okf.kT; Lo'kklh efgyk egkfo|ky;] tcyiqj ¼e-iz-½'kkldh; ekudq¡ojckbZ dyk ,oa okf.kT; Lo'kklh efgyk egkfo|ky;] tcyiqj ¼e-iz-½'kkldh; ekudq¡ojckbZ dyk ,oa okf.kT; Lo'kklh efgyk egkfo|ky;] tcyiqj ¼e-iz-½'kkldh; ekudq¡ojckbZ dyk ,oa okf.kT; Lo'kklh efgyk egkfo|ky;] tcyiqj ¼e-iz-½

B.COM. IV Semester Open Book (ATKT/EX.) Examination, 2020

AT/C/04/20

ys[kakduys[kakduys[kakduys[kakduys[kakdu@@@@@Accounting

,dy iz'ui=,dy iz'ui=,dy iz'ui=,dy iz'ui=,dy iz'ui=

ifjO;; ys[kkaduifjO;; ys[kkaduifjO;; ys[kkaduifjO;; ys[kkaduifjO;; ys[kkadu
Cost Accounting

Maximum Marks : 85

uksV &uksV &uksV &uksV &uksV & lHkh iz'u gy djsaA vadksa dk foHkktu iz'uksa ds lkFk fn;k x;k gSA izR;sdlHkh iz'u gy djsaA vadksa dk foHkktu iz'uksa ds lkFk fn;k x;k gSA izR;sdlHkh iz'u gy djsaA vadksa dk foHkktu iz'uksa ds lkFk fn;k x;k gSA izR;sdlHkh iz'u gy djsaA vadksa dk foHkktu iz'uksa ds lkFk fn;k x;k gSA izR;sdlHkh iz'u gy djsaA vadksa dk foHkktu iz'uksa ds lkFk fn;k x;k gSA izR;sd
iz'u ds mÙkj dh 'kCn lhek 250&300 'kCn gSAiz'u ds mÙkj dh 'kCn lhek 250&300 'kCn gSAiz'u ds mÙkj dh 'kCn lhek 250&300 'kCn gSAiz'u ds mÙkj dh 'kCn lhek 250&300 'kCn gSAiz'u ds mÙkj dh 'kCn lhek 250&300 'kCn gSA
Attempt all questions. Distribution of marks is given against each Question.

Word limit for each Answer is 250-300 words.

iz'u 1- ^ykxr ds rRoksa* dks izR;sd ls lacaf/kr O;; dh vk; enksa dks fn[kkrs gq,]     ¼17½
lkj.khc) dhft,A
Tabulate the 'Elements of Cost' showing the usual items of expenditure appertaining

to each.

iz'u 2- ,d dkj[kkus esa nks xzsM ds fi;kuks xzsM&1 ,oa xzsM&2 dk fuekZ.k gksrk gSA    ¼17½
40 fi;kuks ftlesa 20 xzsM 1 o 'ks"k xzsM&2 ds gSa dh fuekZ.k ykxr 80]000 #- gSA
xzsM&1 fi;kuks dh dqy ykxr dk 55 izfr'kr ykxr j[krs gSa o xzsM&2 fi;kuksa dh
dqy ykxr dk 45 izfr'kr ykxr j[krs gSA izR;sd xzsM ds fi;kuksa dh ykxr dk
fu/kkZj.k djsa vkSj mlesa 15 izfr'kr vizR;{k O;; ds tksM+saA 'kks#e rd HkkM+k o LFkku
dh ykxr 60 #- izfr fi;kuksa gSA foØ; O;; o foKkiu] foØ; ewY; dk 15 izfr'kr
gS tks 4000 #- xzsM&1 o 3800 #- xzsM&2 ds gSaA izR;sd xzsM dk dqy ykxr ij ykHk
dk izfr'kr o foØ; ewY; n'kkZrs gq;s ykxr i= cukb;sA
In the factory two grades of pianos are manufactured Viz. Grade No.-I and Grade

No.-2. The cost of building 40 pianos of which 20 are of Grade No-1 and the

remainder of grade No.-2 is Rs. 80,000. Pianos of grade No-1 cost 55% and

pianos of grade No.-2 cost 45% of the total cost.

Ascertain the cost of each grade and add thereto 15% for indirect expenses.

Transport and space in the show-room cost 60 Rs. per Piano, selling expenses and

advertising are 15% on the selling price which is 4000 in the case of grade No.1 and

3800 Rs. in the case of grade No.2. Write up a cost sheet showing the percentage of

Profit on total cost and selling price respectively on each grade.

iz'u 3- ,d Bsdsnkj ds ,d Bsds ij ftls mlus 1 vizSy 2019 dks vkjaHk fd;k       ¼17½
fuEufyf[kr O;; fd;s &
lkexzh 40000 #-] ikfjJfed 50]000 #- vU; O;; 15000 #-] ykxr ij IykUV 50]000
#-] izekf.kr dk;Z 120000 #-] vizekf.kr dk;Z 60]000 #-] lkexzh gkFk esa 31 ekpZ 2020



dks 11000 #-] IykUV var esa 43000 #-] Bsdknkrk ls udn izkIr 100000 #-] lkexzh
LVksj dks ykSVkbZ xbZ 2000 #-A ;g ekurs gq;s fd Bsdk ewY; 350000 #- dk FkkA Bsdk
[kkrk o pkyw dk;Z [kkrk cukbZ;sA Bsdsnkj dh cSysUl 'khV esa pkyw dk;Z [kkrk dSls
fn[kk;k tk;sxk\
Following expenses were incurred by a contractor on a contract which he started

on 1st April 2019, - Materials 40000 Rs., Wages 50000 Rs., other exps. 15000

Rs., plant at cost 50000 Rs., work certified 120000 Rs., work uncertified 60000

Rs. materials on hand on 31st March 2020- 11000 Rs., Plant at close 43000

Rs.Cash received from contractee 100000 Rs., Materials returned to stores 2000

Rs., Prepare contract Account and work in progress account assuming that the

contract price was 350000 Rs. How will work in progress appear in the balance

sheet of the contractor?

iz'u 4- ,d fuekZ.k O;olk; esa ^v* izfØ;k dk mRikn o izfØ;k dks gLrkarfjr fd;k     ¼17½
tkrk gSA vuqHko ;g jgk gS fd izosf'kr bdkbZ;ksa dk ^v* izfØ;k esa 5 izfr'kr rFkk ^c*
izfØ;k esa 10 izfr'kr lkekU; {k; gksrk gSA lkekU; {k; dk vo'ks"k ewY; vizfØ;k esa
50 #- izfr lSdM+k rFkk *c* izfØ;k esa 80 :- izfr lSdM+k gSA O;; fuEufyf[kr Fks&
In a manufacturing concern, the output of 'A' process is transferred to 'B' process.

It has been the experience that normal wastage in process 'A' is 5% of the units

and in case of 'B' 10% of the units entering the process. The scrap value of

normal wastage is Rs. 50 per 100 units in process 'A' and Rs. 80 per 100 units in

process 'B'. The expenses were as follows -

izfØ;k ^v*izfØ;k ^v*izfØ;k ^v*izfØ;k ^v*izfØ;k ^v* izfØ;k ^c*izfØ;k ^c*izfØ;k ^c*izfØ;k ^c*izfØ;k ^c*
Process 'A'         Process 'B'

lkexzh Materials 10000 6000

Je labour 8000 4000

fuekZ.k O;; Manufacturing expensis 2000 2000

izfØ;k ^v* esa izosf'kr bdkbZ;ksa dh ykxr 1000 bdkbZ;ksa dh ykxr 5000 gSA izfØ;k ^v*
dk mRiknu 900 bdkbZ;k¡ ,oa izfØ;k ^c* dk mRiknu 750 bdkbZ;k¡ gSA
In process 'A' 1000 units were entered at a cost of Rs. 5000. The output of

process A is 900 units and of process 'B' 750 units.

izfØ;k [kkrs cukbZ;s Prepare process account

iz'u 5-  ykxr vads{k.k ds mn~ns';ksa o ykHkksa dks fyf[k,A D;k vkids fopkj esa      ¼17½

ifjO;; vads{k.k fuekZ.kh laLFkkuksa ds fy, vko';d gS\
State the objects and advantages of cost audit. Do you think that cost audit is

essential for manufacturing concerns?
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